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Q1 : Why did the accounts receivable increase
by HK$300 million as compared to that of the
last financial year? Why did the turnover period
increase from 29 days to 35 days?

The accounts receivable as at year ended 31st March 2001
has increased by HK$300 million to HK$971 million as
compared to last financial year. Such an increase of 45% is
higher than that of 32% increase in turnover for the
corresponding period of last financial year. This is mainly
due to the changes in the product mix and the customer
base. (1) The contribution of turnover derived from high-
end products grew bigger. At the same time, as the high-
end products involve more advanced and sophisticated
technology, the credit period extended to customers will
be longer. (2) The contribution of turnover derived from
major customers has been growing as well. The Group
generally extends a longer credit period to those major

customers such as China Unicom, China Mobile,
RIS

QZ: Why did the operating cash outflow reach
such a high level of HK$514 million?

The high level of cash outflow was mainly the result of the
movement in the current account with Legend Holdings
Limited. Had this current account been treated as a long
term financing and been excluded from the calculation of
the operating cash outflow, the operating cash outflow
for the financial year would have been HK$217 million,
representing a decrease of 25% from HK$291 million for
the financial year 1999/2000.

QB: According to IDC's report, the market for
IT products in China achieved a growth rate of
46% while the turnover of the Group for last
year grew at a lower rate, which was only 32%.
Why?

There are two major reasons for such a lower growth rate.
Firstly, the growth of IT product market during 2000 was
mainly attributable to personal computers, especially the
household PC products. However, household PC products
constitute only a small portion of the product range of the
Group. In addition, the major domestic computer
manufacturers in China, such as Legend, are actively
expanding their market shares and have achieved a higher
growth rate than most foreign brands. It will inevitably
affect the performance of Digital China which distributes

mainly foreign brand name IT products.
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